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1.

The Everest Company is the only employer in its area. Everest can hire any

number of domestic workers or foreign workers it wishes. The supply curve for

domestic workers is given by L4 =9w2, and for foreign workers by

Le = 100w, where wy and wr are, respectively, the hourly wage rate paid to

domestic and foreign workers. Assume that Everest sell its product in a perfectly

competitive market at $5 per unit and that each worker hired (bo;ch domestic and

foreign) can produce 2 units per hour. '

a.  Derive the marginal expense of hiring one more domestic worker (MEy) and
the marginal expenée of hiring one more foreign worker (MEj). (8%)

b. If the firm wishes to maximize profits, how many domestic and foreign
workers should be hired and what wiil the wage rates for these two groups
be? How much will Everest earn in profits per hour? (6%)

¢.  If Everest was constrained to pay all workers the same wage based on the
value of their marginal products, how many domestic and foreign workers
should be hired and what will the wage rate? How much will Everest earn in
profits? (6%)

Consider a competitive market of an exhaustible resource - kryptonite. The
market demand is given by Q = 1000 — 100P. The marginal cost of production is
constant at $5 per ounce. It is expected by the market that kryptonite will sell for
$10 per ounce in 10 years. Also assume that the real interest rate is 5% (i.e. the
present discounted value of $1 received in 10 years is 0.614). What is the current
market price and output? (6%)

Ms. Smith’s utility function is given by U(W) =W where W is her wealth,

Suppose that Ms. Smith has $2500 in wealth and there is a 25% chance that she

will lose $900.

a.  What is her expected utility? (4%)

b.  Suppose that Ms. Smith can buy insurance against losing the $900. What is
the actuarially fair premium? (4%)

~¢. What is the maximum amount that she is willing to pay to insure her $900?

(4%)

Consider the situation where a monopoly sells in one markst but makes the
output in two plants. The market demand is given by P = 70 -Q8. The marginal
cost for plant 1 is MC, = 3Qi and the marginal cost for plant 2 is MC, = Q,.

a.  What is the profit-maximizing output and price? (6%)

b.  How much of the total output should come from each of the plants? (6%)
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5. Changes in economic poiicies will frequently have an impact on the
unemployment rate. Explair: whether each of the policy changes described is likely
to: (i) affect frictional or structural unemployment; and (ii) increase or decrease
the measured unemployment rate.

a. The government raises the minimum wage. (5%)
b. The government increases spending on job-training programs. (5%)

6. a. Graphically illustrate the impact of an open-market purchase by the Federal
Reserve on the equilibrium interest rate using the theory of liquidity
preference and the market for real money balances. Be sure to label: (i) the
axes; (ii) the curves; (iii) the initial equilibrium values; (iv) the direction the
curve shifts; and (v) the terminal equilibrium values. (5%)

b. Explain in words what happens to the equilibrium interest rate as a result of
the open-market purchase. (5%)

c. As an economy moves into a recession, incomne falls. Iilustrate graphically the
impact of a decrease in income on the equilibrium interest rate using the
theory of liquidity preference and the market for real money balances. Be sure
to label: (i) the axes; (ii) the curves; (iii) the initial equilibrium values; (iv) the
direction the curve shifts; and (v) the terminal equilibrium values. (5%)

d. Explain in words what happens to the equilibrium interest rate as a result of
the fall in income. (5%)

7. What is the impact on current consumption of a temporary tax cut according to:
a. the Keynesian consumption function? (5%)
b. the permanent-income hypothesis? (5%)

8. Use the Baumol-Tobin mode] to explain how each of the fcilowiné events would
change the demand for money:
a. The rate of inflation increases and is expecied to continue to increase. (5%
b. Most households begin to practice a “don’t buy anything new” approach to
shopping. (5%)
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